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R ma | BT T | B2 | mse | o |t | B2 e | T e e | B2 e | o | e
7 100kN/mM%Z#BZ25| 100|000 ~ 202| 13120 |3mEBZ3| — ~ — — — | 100kN/mMi%#Z25 | 1.00 | 1194 ~ 2762| 131.20 |3m&E#EZ5 -~ — — —
Zzh st 1001202 ~ 980 100.00 | =nLs | 000 ~ 980|274 14.69 zhnLst 1.00 | 5.00 ~ 1194 100.00 | EnS | 5.00 ~ 2762|274 14.69
2 100kN/m%Z#BZ25| 100|000 ~ 200| 13089 |3mEBZZ| — ~ — — — | 100kN/mMi%#82 5| 1.00 | 11.92 ~ 2701 130.89 |3m%i#EZ S -~ — — —
Zzh st 1.00 | 200 ~ 9.78 100.00 | =5 | 000 ~ 978 2.75 14.70 zhnLst 1.00 | 5.00 ~ 1192 100.00 | =N | 5.00 ~ 2701|275 14.70
3 100kN/m%i#B%5%| 100|000 ~ 242| 137.89 |3mZEBZZ| — ~ — — — | 100kN/mi%E#BZ % | 1.00 | 1061 ~ 2191 137.89 |3m%EREZD - ~ - - -
Zzh st 100|242 ~ 1021 100.00 | TSt | 000 ~ 1021| 2.63 14.09 Zzh st 100|500 ~ 1061 100.00 | =hLS | 5.00 ~ 2191|263 14.09
4 100kN/m#%#8Z5| 1.00| 000 ~ 261 141.00 |3m%EBZ25 - ~ — — — | 100kN/Mi%#825% | 1.00 | 11.11 ~ 30.22 141.00 |3m%E#EZD -~ — — —
Zzh st 100|261 ~ 1039 100.00 | ThS | 000 ~ 1039] 2.94 15.74 Zzh st 100|500 ~ 1111 100.00 | =hLS | 5.00 ~ 3022 2.94 15.74
5 100kN/mM%Z#BZ25| 100|000 ~ 245| 13827 |3mEBZE| — ~ — — — | 100kN/m%ZE#BZB | 1.00 | 1053 ~ 2114 13827 |3mZEBZ3 -~ — — —
Zzh st 1.00 ) 245 ~ 1023 100.00 | #ns | 0.00 ~ 1023| 2.69 14.41 zhnLst 1.00 | 5.00 ~ 1053 100.00 | =ns | 5.00 ~ 2114|269 14.41
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh s ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8% % ~ 3mExEZD ~ 100kN/MZ#B % % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh s ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/mMZ#8% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/mM%Z#B% % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ 3mExEZD ~ 100kN/M%Z#B% % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8 % % ~ 3mExEZD ~ 100kN/mMZ#8 % % ~ 3mExEZD ~
Zh s ~ ZhLst ~ Zh s ~ ZhLst ~

3
H
M|



